KANGOUROU MATHEMATICS COMPETITION PreEcolier
Level 1-2

3 point problems - 6épara 3 povadwv

1. Ladybird will sit on a flower that has five petals and three leaves. On which of the following
flowers will ladybird sit?

H nanapoUva Ba kabioesl g€ Aouloud! To onoio £xel NEVTE NETAAA Kal Tpia GUAAA. Z€ noio
ano Ta nio katw AouAoUdia Ba kabioel n nanapouva;

(A) g (B) ; (C)
(D) i (E) é
2. Starting from the arrow, in what order do you meet the shapes?

ApxiCovTac ano To BEAOC, Ke noia osipd Ba ouvavThoEIC T OXNUATG;

i

(A) triangle, square, bullet  (B) triangle, bullet, square (C) bullet, triangle, square
(D) square, triangle, bullet  (E) square, bullet, triangle

(A) Tpiywvo, TETPAywvo, ogaipa (B) Tpiywvo, ogpaipa, TETPAYWVO
(C) oaipa, Tpiywvo, TETPAYWVO (D) TeTpaywvo, TPiywvo,cpaipa
(E) TeTpaywvo, ogpaipa, Tpiywvo
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Level 1-2

3. How many more grey squares than white squares can you count?

Mooa nepioooTEPA YKPI(a TETPAYWVA anod Aonpa TETPAYWVO UMOPEIG va PETPNOEIC;

(A) 6 (B) 7 (C) 8 (D)9 (E) 10

4. If you put the animals in line from the smallest to the largest, what animal is in the middle?

Eav BaAeig Ta {wa o€ ypaupn and To HIKPOTEPO OTO HEYaAUTEPO, noio {wo Ba ival oTn
Meoaia Bgon;

(A)1 (B) 2 (€3 (D) 4 (B)5

5.
Ann has twelve of these tiles\ . She makes one line with stat at the left side as shown
at the design above. How does the line end?
H Avva €xel dwdeka NAAKAKIa TNG HOPPNG A . ZXNMaTilel Jia ypauun KeE apxn ano
apioTePA Onwe PaiveTe GTo NIO NAvw oXNKA. Mwg TEAEIWVEI N YPAUMD.

(A) A (B) © d (D) (E)
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KANGOUROU MATHEMATICS COMPETITION
Level 1-2

6. Which is the shadow of the girl? [ ] f oy

Moia €ival n oKIA Tou KopITOIoU;

PreEcolier

(A) (B)

(© (D)

(B)

7. A square was composed of 25 small squares, but some of these small squares are lost. How
many are lost?

'Eva TeTpaywvo oxnuaTileTal Ye 25 pIkpa TETpAywva, aAAa PePIKA anod auTd Ta PIKpa
TETPAYWVA £xouV Xabei. Mooa xouv Xabei;

(A) 6 (B) 7 (C) 8

(D) 10 (E) 12

8. How many ducks balance the crocodile?

Mooeg NAnIES I00pPONOUV TOV KPOKODEINO;

g,., .- 3;,
o ®
3
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KANGOUROU MATHEMATICS COMPETITION

Level 1-2

PreEcolier

4 point problems - 6para 4 povadwv

9. When the ant i goes from home ﬁ following these arrows with the number of squares
to for steps:

— 3
T3
— 3

T1

it comes to the ladybird ’%'

Which animal would it come to, if she goes from home following arrows?

— 2
12
— 3
T3
— 2

T2

'OTav TO HUPMAYKI g peUyel ano To oniTl Tou ﬁ akoAouBwvTag Ta BEAN PE Tov apiBud

TV TETPAYWVWV WG BApaTa:

— 3
T3
— 3

T1

@Tavel otnv nanapouva %’
Moio {wo Ba cuvavtnoel av GUyel anod To oniTi akoAouBwvTag Ta nio KaTw BEAN;

— 2
12
— 3
13
— 2

12

oy

L

S T L Y
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10. The kangaroo is inside how many circles?

To Kaykoupo eival péoa og ndoouC KUKAOUG;

(A)1 (B) 2 (C) 3

o1 ©
(FF

11. A square was cut into 4 parts as shown in the picture. Which of the following shapes cannot
be made with these 4 parts?

'Eva TeTpaywvo XwpileTal o€ 4 peEpn ONwe PaiveTe aTnv €ikova. Moio and Ta nio KaTw
oxXNHUaTa dgv YNoPEi va KaTAOKEUAoTel e auTd Ta 4 pépn;

(D) (E)
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KANGOUROU MATHEMATICS COMPETITION PreEcolier
Level 1-2

12. Which design fits exactly on top of the one given?

Moio oxnua Taipiadel akpIBws oTo NAVW PEPOG ToU DOOHEVOU OXAHATOC;

hao 4

13. Walking from K to O along the lines pick up the letters KANGAROO in the correct order.
What is the length of the shortest walk in meters?

MepnaTtwvtag anod 1o K 1o O kaTd PNKog Twv Ypappwv palewe Ta ypaupata KANGAROO
0T OWOTH Toug aelpd. Moo €ival TO PRKOG TO CUVTOUOTEPNC NOPEIac o€ PETPA;

1m
— (A) 16 m (B) 17 m (C) 18 m
_® /5_ 11 - (D) 19 m (E) 20 m
G
) (

N

Nr\ h
&)
e
0

=/

14. How many numbers are greater than 10 and less than or equal to 31, which can be written
with digits 1, 2 or 3 only? You can repeat digits.

Moool apiBuoi gival peyahuTepol Tou 10 kal IkpOTEPOI 1 i0o1 pe To 31, o1 onoiol pnopouv va
ypagouUv pe Ta yneia 1, 2 | 3 povo; Mnopeic va enavaiaBeic Ta ynoia.

(A)2 (B)4 €6 (D)7 (E)8
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KANGOUROU MATHEMATICS COMPETITION PreEcolier

Level 1-2
15. Seven sticks lie on top of each other. Stick 2 is at the bottom. Stick 6 is at the top. Which

stick is in the middle?
EnTd papdol BpiokovTal n pia navw otnv aAAn. H paBdoc pe apiBpo 2 Bpiokeral kKaTtw anod
OAeC TIG paBdouc. Moia paBdoc BpioKeTal OTO PETO;

M (A) 1 (B) 3 (C) 4
[ N \
(D) 5 (E) 7

16. How many frogs did the three pelicans catch all together?

Mooouc Batpayoug Eniacav Kai ol TPEIC nehekavol pad;

'Emiaca nepioodTePOUG

‘Emaoa
TOUAGXIOTO 2 Batpayoug and Tov Peli kai Aev £N100a NEPITOBTEPOUC
Barpayoug AlyoTepoug ano Tov Kanu. and 4 BaTPAYOUC.
| caught 69; | caught more frogs ﬂ
at least 2 than Peli did, and . | caught no
frogs. less than Kanu. more than

4 frogs.

\_9'_5'_
S
Kanu
(A)1 (B) 2 <4 (D)9 (E) 12

\ 5 point problems - 6épara 5 povadwv

17. The chess board is damaged. How many black squares on the right side of the line are
missing?
H okakiEpa €ival kaTaoTpeUpevn. Mooa pavpa TeTpdywva oTo Je&Id PHEPOG TNG YPAMMNG

Aginouv;
(A) 11 (B) 12 (C) 13

(D) 14 (E) 15
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KANGOUROU MATHEMATICS COMPETITION PreEcolier
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18. Rabbit Venya eats cabbages and carrots. Each day he eats either 10 carrots, or 2 cabbages.
Last week Venya ate 6 cabbages. How many carrots did he eat last week?

To kouvéN Venya Tpwel papouAia kal kapoTta. Kabe pépa Tpwel eite 10 kapoTa ny 2

papoUAia. Tnv nepacyévn Boopada £paye 6 yapoUAia. Mooa kapoTa £Ppaye TNV NEPACHEVN
Bdoudada;

\WY/

(A) 20 (B) 30 (C) 34 (D) 40 (E) 50

19. What should you put in the empty square to get a correct diagram? Dot - symbolizes x.

Ti npenel va BAAEIG JEoa OTO KEVO TETPAYWVO YIa VA EXEIG 0WOTO dldypappa; To cUpBoAo -
OUMBOAICE! X.

, T 2.‘ (A) —38 (B) :8 (C) —45
71 9N D) -6 () :6

=11 | 49
L.

20. Put the digits 2, 3, 4 and 5 in the squares, without repetition, and calculate the sum to get
the largest value. What is that value?

TonoBeTnoe Ta wnoia 2 ,3, 4 kai 5 0Ta TETPAYwWVA, XWPIC Enavainyn, kai unoAoyioe To
abpolopa yia va napeic Tn peyaluTepn TiUn. Moia gival n Tipn;

+

(A) 68 (B) 77 (C) 86 (D) 95 (E) 97
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KANGOUROU MATHEMATICS COMPETITION PreEcolier
Level 1-2

21. The central cell of the square was removed. We cut it into equal pieces. Which piece is not
possible to get?

A@aipeiTal To KEVTPIKO TETPpAywvo. KOBoupe To oxnua o€ ioa koppdarid. Molo koppaT dev
gival duvaTto va NAapous;

) B 8y EE0 ) I ) @ ) | I

22, To get the product of 2 x 3 x 15, Bill has to press the keys of his calculator seven times, as
shown below. Bill wants to multiply all numbers from 3 to 21, using his calculator. At least,
how many times will he press the keys of his calculator?

lMa va napel 1o yivopevo 2 X 3 X 15 o Bill npénel va natrnoel Ta Koupnia aTo UNoAoyIoTr Tou
ENTA POPEC, ONWG PpaiveTal Mo katw. O Bill BEAel va noAanAaociaoel 6Aouc Touc apiBpoug
ano To 3 €wg To 21, XpNOILONOIWVTAG TOV UNOAOYIOTH TOU. TOUAAXIOTO NOCEG (POPEC NPENEI
va Natnoel Ta KOUMMIA 0TOV UNOAOYICTH TOU;

AIESENIENEE

(A) 19 (B) 31 (C) 37 (D) 50 (E) 60

23. Fedya has 4 red cubes, 3 blue cubes, 2 green cubes and 1 yellow cube. He builds a tower
(see the picture) in such a way that no two adjacent cubes have the same colour. What is
the colour of the middle cube?

H Fedya €xe1 4 kOkkIvoug KUBoug, 3 pnAe kUBouG, 2 npacivoug kuBoug kal 1 kiTpivo kupo.
KTiCel éva nupyo (0nwg To oxNHa) HE TEToIO0 TPONOo waTe dUo dinAavoi KUBOI va pnv €XouvV To
id10 Xpwua. Molo €ival To Xpwua Tou PECaiou KUBOU PE TO ?

(A) red (B) blue (C) green
(D) yellow (E) impossible to determine
? (A) KOKKIVO (B) unAe (C) npacivo
(D) kiTpivo (E) dev pnopei va Bpedei
9
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24, Cogwheel A turns round completely once. At which place is x now?

O 000VTWTOC TPOXOC A KAVEl OAOKANPN OTPO®N MHia (popd. e nola B¢on Ba Bpebei To onueio
X;

(A) a (B) b © c (D) d (E) e
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